Division par 10% (E)

68 = 102

70 + 107

22 <+ 102

92 + 102

68 = 102

90 + 10°

18 = 10?2

88 = 102

92 + 102

99 + 102

Trouvez chaque quotient.

66 + 10% =

18 = 10% =

80 <+ 107

39 + 107

17 + 10% =

19 = 10% =

69 + 10% =

39 +~10% =

2 +10% =

39 +~10% =
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Division par 10% (E) Solutions

68 + 10° = 0,68

70 +10°=0,7
22 +10%=0,22
92 +10%= 0,92

68 + 10°> = 0,68

90 + 10°=10,9

18 +10*=10,18

88 + 10%=0,88

92 +10%*=10,92

99 + 10%=10,99

Trouvez chaque quotient.

66 ~ 10° = 0,66

18 +10*=10,18

80 +~10*=0,8

39 +10%=10,39

17 +10%=10,17

19 +10*=10,19

69 + 10* = 0,69

39 +10%=0,39

2+10%=0,02

39 +10%=0,39
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